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2017 June Microsoft Official New Released 70-740 Q& Asin L ead2pass.com! 100% Free Download! 100% Pass Guaranteed! I'm
currently studying for Microsoft exam 70-740 | do enjoy studying for exams. It's hard, but it's an excellent forcing function. | learn
bits and pieces here and there now and then about this and that, but when | have an exam schedule for a set date, | have to study!
And not only do | put in more hours, but | follow a more systematic approach. In this article, I'm going to share Lead2pass
braindumps in case you too are studying and this method works for you. Following questions and answers are all new published by
Microsoft Official Exam Center: http://www.lead2pass.com/70-740.html QUESTION 1Y ou have a server named Server 1 that runs
Windows Server 2016 and has the Hyper-V server role installed.On Serverl, you plan to create a virtual machine named VM1.Y ou
need to ensure that you can start VM1 from the network.What are two possible ways to achieve the goal ? Each correct answer
presents a complete solution. A.  Create ageneration 2 virtual machine.B. Create a generation 1 virtual machine and run the
Enable-NetAdapterPackageDirect cmdlet.C. Create ageneration 1 virtual machine that has alegacy network adapter.D. Create a
generation 1 virtual machine and configure a single root 1/O virtualization (SRV-10) interface for the network adapter.Answer:
ACExplanation:To boot a virtual machine from the network, it must be generation 2 VM, or Generation 1 VM connected to legacy
network adapter. QUESTION 2Note: This question is part of a series of questions that use the same similar answer choices. An
answer choice may be correct for more than one question in the series. Each question is independent of the other questionsin this
series. Information and details provided in a question apply only to that question. Y ou have a Hyper-V host named Serverl that runs
Windows Server 2016.Serverl has adynamically expanding virtual hard disk (VHD) file that is 900 GB The VHD contains 400 GB
of free space.Y ou need to reduce the amount of disk space used by the VHD.What should you run? A.  the Mount-VHD cmdletB.
the Diskpart commandC. the Set-VHD cmdletD. the Set-VM cmdletE.  the Set-VMHost cmdletF.  the Set-V M Processor
cmdletG. the Install-WindowsFeature cmdletH.  the Optimize-VHD cmdlet Answer: H QUESTION 3Note: This question is part
of aseries of questions that present the same scenario. Each question in the series contains a unique solution that might meet the
stated goals. Some question sets might have more than one correct solution, white others might not have a correct solution. Y our
network contains an Active Directory forest.Y ou install Windows Server 2016 on 10 virtual machines.Y ou need to deploy the Web
Server (11S) server role identically to the virtual machines.Solution: Y ou use Windows PowefShell Desired State Configuration
(DSC) to create adefault configuration and then you apply the configuration the virtual machines.Does this meet the goal? A.

YesB. No Answer: A QUESTION 4Y ou have aNano Server named Nanol.Which cmdlet should you use to identify whether the
DNS Server roleisinstalled on Nanol? A.  Find-NanoServerPackageB. Get-PackageC. Find-PackageD.
Get-WindowsOptional Feature Answer: B QUESTION 5In this section, you'll see one or more sets of questions with the same
scenario and problem. Each question presents a unique solution to the problem, and you must determine whether the solution meets
the stated goals. Any of the solutions might solve the problem. It is also possible that none of the solutions solve the problem.Once
you answer a question in this section, you will NOT be able to return to it. As aresult. these questions will not appear in the review
screenNote: This question is part of a series of questions that present the same scenario. Each question in the series contains a unique
solution. Determine whether the solution meets the stated goals. Y our network contains an Active Directory forest named
contoso.com.The forest contains a member server named Serverl that runs Windows Server 2016. All domain controllers run
Windows Server 2012 R2.Contoso com has the following configuration: Y ou plan to deploy an Active Directory Federation
Services (AD FS) farm on Serverl and to configure device registration.Y ou need to configure Active Directory to support the
planned deployment.Solution: Y ou raise the domain functional level to Windows Server 2012 R2.Does this meet the goal? A.

YesB. No Answer: B QUESTION 6Y ou are configuring a Windows Server 2016 failover cluster in aworkgroup.Before installing
one of the nodes, you run the ipconfig /all command and receive the following output: Y ou need o ensure that Server 1 can be
added as anode in the cluster. What should you do1? A. Assign astatic IP addressB. Change the Node Type to BroadcastC.
ConfigureaDNS suffixD. Enable NetBIOS over TCP/IP Answer: C QUESTION 7Note: This question is part of a series of
questions that present the same scenario. Each question in the series contains a unique solution that might meet the stated goals.
Some question sets might have more than one correct solution, white others might not have a correct solution. After you answer a
question in this section, you will NOT be able to return to it. As aresult, these questions will not appear in the review screen. You
are aserver administrator at a company named Contoso, Ltd.Contoso has a Windows Server 2016 Hyper-V environment configured
as shown in the following table. All of the virtual switches are of the external type.Y ou need to ensure that you can move virtual
machines between the hosts without causing the virtual machines to disconnect from the network.Solution: Y ou implement a
Hyper-V Replica between Host2 and Host4.Does this meet the goal? A.  YesB. No Answer: BExplanation: To meet the goal, you
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must use Live Migration. HyperV replicawill cause the host to disconnect from the network. To use Live Migration, hosts must be
connected to the same V Switch and have the same brand of processor. QUESTION 8Note: This question is part of a series of
questions that present the same scenario. Each question in the series contains a unique solution that might meet the stated goals.
Some question sets might have more than one correct solution, while others might not have a correct solution. After you answer a
question in this section, you will NOT be able to return to it. Asaresult, these questions will not appear in the review screen. You
have two servers that run Windows Server 2016. Y ou plan to create a Network load Balancing (NLB) cluster that will contain both
servers.Y ou need to configure the network cards on the servers for the planned NLB configuration.Solution: Y ou configure the
network cards to be on the same subnet and |o have dynamic |P addresses. Y ou configure the cluster to use multicast.Does this meet
thegoa?A. YesB. NoAnswer: BExplanation:To use Network Load Balancing, dynamic IP(DHCP) is not supported. IP must be
statically assigned. All hosts must be configured to use unicast or multicast, but not both. All hosts must also be on the same subnet.
QUESTION 9Y ou have a server named Serverl that runs Windows Server 2016.Y ou need to configure Serverl as a multitenant
RAS Gateway. What should you install on Serverl? A. the Network Policy and Access Services server roleB.  the Remote
Access server roteC. the Data Center Bridging featureD. the Network Controller server role Answer: B QUESTION 10In this
section, you'll see one or more sets of questions with the same scenario and problem. Each question presents a unique solution to the
problem, and you must determine whether the solution meets the stated goals. Any of the solutions might solve the problem. It is
also possible that none of the solutions solve the problem.Once you answer a question in this section, you will NOT be able to return
to it. Asaresult. these questions will not appear in the review screenNote: This question is part of a series of questions that present
the same scenario. Each question in the series contains a unique solution. Determine whether the solution meets the stated goals.

Y our network contains an Active Directory forest named contoso.com. The forest contains a member server named Serverl that runs
Windows Server 2016.All domain controllers run Windows Server 2012 R2.Contoso com has the following configuration:  You
plan to deploy an Active Directory Federation Services (AD FS) farm on Serverl and to configure device registration.Y ou need to
configure Active Directory to support the planned deployment.Solution: Y ou raise the forest functional level to Windows Server
2012 R2.Doesthismeet thegoal? A.  YesB. No Answer: BExplanation: The Forest Functional Level cannot be raised higher than
the Domain Functional Level. If you want to prepare for 70-740 exam in shortest time, with minimum effort but for most effective
result, you can use Lead2pass 70-740 dump which simulates the actual testing environment and allows you to focus on various
sections of 70-740 exam. Best of luck! 70-740 new questions on Google Drive;
https://drive.google.com/open?id=0B3Syig5i8gpDTzFiNkZZM GowWWSs 2017 Microsoft 70-740 exam dumps (All 113 Q& As)
from Lead2pass. http://www.lead2pass.com/70-740.html [100% Exam Pass Guaranteed!!!]
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